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Hiring Workers for a Company based on Work Load and Salary
1. Formulate the Problem

How many people should we hire to optimize the output of the given company? If we hire too few people, the work load on any given person will be greater, but the total funds to pay the workers will be less. If we hire too many people, the work load on any given person will be less, but the total funds needed to pay the workers will be greater. Our problem is to figure out how many people the company should hire to give its workers a reasonable work load and use a reasonable amount of the company’s money towards salary.
2. Observe the System

Here we must observe the current practice of the company. We can assess the workload and salary of each worker at the present time. We can also record the total number of workers in the company. Given this initial data, we can draw up graphs and infer the company’s benefits as it hires or lays off workers.
3. Formulate a Mathematical Model of the Problem

Given our observations, we can formulate a mathematical model to solve our company’s problem. Let us assume 
1) There is a determined total amount of work that will be evenly divided among all the workers.

2) There is a determined total amount of money the company is willing to spend that is evenly divided among the workers’ salaries. 
From this information, we can draw up our models. 
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4. Verify the Model and use the Model for prediction

We can test our model mathematically and make sure the data we collected from observing the company matches our graphs. By formulating different initial conditions on our model, we can make predictions for the outcome of the company. Given three initial conditions, we can draw conclusions.
1) If the company has too few workers initially, it would be giving each worker too large of a work load, while using less of the company’s funds to supply the workers’ salaries. Here we can suggest that the company hire more workers to reach the optimal quantity of workers in order to pay the least amount of money to supply salaries while at the same time, giving each worker a reasonable work load.
2) If the company has the desired number of workers initially, it is giving each worker a reasonable work load while using a reasonable amount of the company’s money to supply salaries. Here we can suggest that the company neither hire more nor lay off any workers, as they are already have the desired quantity of workers.
3) If the company has too many workers initially, they would be giving each worker too small of a work load and using too much of the company’s funds towards the workers’ salaries. Therefore, we would suggest the company lay off some of its workers to result in the desired number of workers to supply salaries using a reasonable amount of the company’s money while at the same time giving each worker a good work load. 
We can demonstrate these conclusions in each of our graphs.
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        Result: Hire Workers                        Result: Remain the Same                  Result: Lay off Workers
5. Select a Suitable Alternative
By drawing these conclusions, and making our predictions, we can give the company an alternative to its present running conditions. This alternative should aid the company to improve its present condition by giving its workers good work loads and saving the company money. 
6. Present the results and conclusion of the study to the organization.
Once we are done formulating and testing our model, we can present our results and the conclusion of the study to the company. Given our results and conclusions, the company can make an educated decision to hire more workers, remain at the same capacity, or lay off some workers. 
7. Implement and evaluate recommendations

Lastly, the company can implement our recommendations. We hope that the company will take our results into consideration. Our conclusions should help to strengthen the company by giving insight to best manage the work load of its workers and the money spent on workers’ salary. 
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